1.

112,

1) Apple
1) ¥9

1) Monkey
1) T

1) Cube
1) WA

1) Monday
1) dHER
1) Violin
1) Hifr

1) Uncle
1) ==

1) Shimla
1) femen
1) Snake
1) |

1) Car

1) &N

1) Wheat
1) g

1) Mercury
1) 94

1) Driving
1) gEfEm

MENTAL ABILITY TEST

2) Banana
2) el
2) Bear
2) Wy,

2) Cuboid
2) ¥4

2) Week
2) §aE
2) Guitar
2) firer

2) Nephew
2) s
2) Sirmour
2) fagin
2) Whale
2) R

2) Bus

2) 99

2) Rice

2) =&
2) Moon
2) I=W
2) Sailing
2) HemEm

3) Grapes
3) 3R

3) Lion

3) ;W

3) Circle

3) g

3) Thursday
3) &R

3) Cellos

3) SEETEr
3) Brother
3) Wi

3) Hamirpur
3) TRE

3) Crocodile
3) HTH=
3) Aeroplane
3) T e
3) Maize

3) WEER

3) Jupiter

3) gewfa
3) Swimming

3) =t

Direction: In Question No. 1-12, three terms are alike in some way and so form a group while
one is different from others. Identify the term that does not belong to group.

fem fdw: ww "em 1-12 #, = wwl | i o= el w9 F v gee ® el ww e e
¥ vEfw U v T odE @ B ¥ 9w s @ g S e #

4) Peas

4) AR

4) Parrot

4) drm

4) Square

4) =

4) Saturday
4) wffEr

4) Tabla

4) wEE

4) Niece

4) st

4) Himachal Pardesh
4) femraa w3w
4) Lizard

4) Togwet

4) Truck

4) §F

4) Vegetable
4) Tt

4) Venus

4) I

4) Fishing

4) WS THEAT

]
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Direction: In Question No. 13-24, Complete the given series.
Fron Fdw: ww wEm 13-24 # & T fEen W B
13 2,3,5, 7, osl3. 17

1) 12 2) 8 3) M 4) 10
14. 4,16, 64, ..., 1024

1) 76 2) 230 3) 780 4) 256
1. 1,49, ..., 25 36

1) 16 2) 12 3) 18 4) 2
i L 3

3612 48 56

1 1 | |

RN D % 3 36 RAPT:
17. 48, 24, ....;. 6,3

1) 16 2) 13 3) 12 4) 10
18. 11,31, ..., 71,91

1) 41 2) 51 3) &1 4) 69
19. 0.1, 0.01, ....., 0,0001, 0.00001

1) 0.001 2) 0.00001 3) 0.000001 4) 0.0000001
20. 2, 4,6, .., 10,12

1) 3 2) 7 3) 8 4) 9
21, 2-3, 34, .y 5-6, 6-7

1) 1-5 2) 2-% 3) 3-8 4) 4-5
3, 3,7, 1L, imy 19,:2

1) 10 2) 12 3) 15 4) 17
23, 3, 3., 3%

1) 9 2) 18 3) 27 4) 81
24. 53,53, 40, 40, 27, 27, ...,
1) 12 2) 14 3) 27 4)

wn
W
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Direction: In Question No. 25-36, therc are three words. Out of which first two are related in
some way. The Same relationship holds between the third word and one of the responses (1). (2),
(3) or (4). Identify the correct related word.

feen fadw: wem wem 25 | 36 ° o e A M ¥ ved @ = e w0 0 agw A wsiva
¥ 97 ddy F ol feg el (1), (2), (3) W (4) H B ww W= H B e v

H A
25. Himachal Pradesh : Shimla; : Punjab :
fearae waw : formren ;. g4 :
1) Haryana 2) Chandigarh 3) Bihar 4) Goa
1) =i 2) wEImg 3) faew 4) TiEr
26. Ink : Pen : ; Graphite :
P“ﬂ H ﬂq g ﬁ"ﬁTEE H
1) Eraser 2) Box 3) Pencil 4) Sharpner
1) @Eg 2) = o 3) dfaw 4) wrdw
27.  Gloves : Hand : : Socks :
T WY o TUE
1) Arm 2) Neck 3) Waist 4) Foot
1) &9 2) A 3) =W 4) |
28 16:36::7:
1) 25 2) 35 3) 49 4) 45
29. WOLF : FLOW : : LION :
1) NOIL 2) LONI 3) OILN 4) NLIO

30. Chacha : Pt. JawaharLal Nehru : : Iron Man :
o1 : WiEE FAml e Tew : : dn IE
1) Mahatma Gandhi 2) Dr. Rajendra Prasad
1) wETe Tt 2) B TS TR
3) Lala Lajpat Rai  4) Sardar Vallabh Bhai Patel
3) O UG 4) WIER Aee 4T wee
31. Cow : Shed : : Dog :

g ;e ; ;e
1) Hive 2) Den 3) Kennel 4) Stable
1) & 2) TH 3) FAMR 4) ITETE

*



32, Lion: Cub : : Horse :
?R:wmaﬂ::sﬁ@:

1) Pony 2) Calf 3) Pub 4) Kid
1) =% 2) wFEl 3) faeen 4) Tl
a3, Curd: Milk : @ Juice

A G

1) Vegetables 2) Fruits 3) Leaf 4) Tree

1y wfesl 2) FE 3) TR a) U3

34, Bus: Fuel @ @ Bulb :

1) Petrol 2) Coal 3) Electricity 4) Tnk
1) ¥ 2) wEE 3) faorelt 4) @R
as, Tree! Forest @ ° Grass ©

1) Smart 2) Heroic 3) Courageous 4) Handsome
1) BAER 2) WERL 3) TREH 4) EEA

Direction: (In Question No. 37-41) Choose the one which comes first in the dictionary.
ﬁmﬁiﬁhwmnam ﬁ,wmﬁﬂéﬁmﬁqﬁﬁahmﬂ%mﬁmﬁ%m%

7. 1) Leader 2) Lelt 3) Legal 4) Letter
ag, 1) Case 2) Cash 3) Cap 4) Cave
39, 1) Milk 2) Mile 3) Mike 4) Mild
40. 1) Elder 2) Elapse 3) Eject 4) Eight
41. 1) Oven 2) Over 3) Oral 4) Out

Direction: (In Question No- 42-46) arrange the given words in sequence {n which they occut in
the dictionary and then choose the correct sequence:

ﬁvﬂﬁéﬂ:m-&mazﬁ%ﬁ,mﬁﬁwwﬁﬁ@mmﬁimmmﬁmﬁ



43,

44,

45,

47.

48.

49.

50.

51.

52.

53.
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1) Vast 2) Vase 3) Value 4) Vale
1) 34,21 2) 4,3,2,1 3) 1,342 4) 2,413
1) Yam 2) Yak 3) Yah 4) Yon
1) 1,3,4,2 2) 1,2,34 3) 3,2,1,4 4) 2,1,4,3
1) Easy 2) East 3) Each 4) Eam
1) 2,413 2) 1,342 3) 4,31,2 4) 34,21
1) Orange 2) Duck 3) Dog 4) Dug
1) 4,2,31 2) 1,3,4,2 3) 2,314 4) 4,321

If tomorrow is sunday then what day will be on 5th day from today?
ﬂﬁmm%ﬁmﬁﬁa&ﬁqaﬁqmaﬂm?

1) Thursday 2) Wednesday 3) Tuesday 4) Friday
1) #RaR 2) gHER 3) WEER 4) YFaR
How am 1 related to my Son's great grand father?

o T % e @ A v € 2

1) Son 2) Uncle 3) Grand Child 4) Father
1) @ 2) == 3) 9 4) faar
If *CAD’ is Coded as 314 then ‘DCA’ is Coded as

AT “CAD’ %1 314 forar wmr 2 ‘DCA’ #1 frm we fomar wmem 2

1) 314 2) 413 3) 134 4) 431
Palm is related to Hand in the same way sole is related to.....,
ﬁl@rm@aﬁmaﬁa‘fﬁa%mm@mm ...... 3} wafim )
1) Leg 2) Ankle 3) Knee 4) Foot
1) =W 2) . Z@ 3) g 4) |
DDA : ADD :: RRB :?

1) RBR 2) BRB 3) BRR 4) RBB

In the given series, how many times 4 has come exactly before 39
ﬁﬂﬁaj@mﬁ4iﬁaw3ﬁqaﬁﬁm?mm%?

1,2,4,3,4,2,1,3,4

All people are good, some people are teachers. All teachers are-
bR AR R L R G—

1) Bad 2) Good 3) Not good 4) Better

) g E 2) =D 3) IS T # 4) A uft g ¥
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Direction: (In Question No. 54-57) answer the questions from the given series:
fean Frdqn: WA WEW 54-57 F IW A W gaen § @ <
3,5,7,9,11,13
s4.  What is/are at the centre?
¥z 8 o o gen ¥?
1) 7 2) 5 3) 9 4) 7 and 9
55. What is on the left of 97
o % arf WE FA W &F &2
1) M1 2) 7 3) 5 4) 13
56. What is fourth from last?
sifm & H0 TE W FA W OIF 82
1) 9 2) 5 3) 7 4) 3
57. What is on the right of third from fast 2
a‘ﬁrﬂﬂmﬁﬁm%ﬁ%wmaﬁamm%?
1) 9 2) 1 3) 7 4) 5
s8. If *n’ stands for ‘+, ‘P’ stands for ‘x’ and ‘a’ stands for *+' then 5nSpla2 will be:

i n® e i E, P x Y aEi ¥ R At =) i & & SnSpla2 @ W TG F |

1) 2 2) 4 3) 5 4) 3
59. What will be the time half an hour after quarter to 9 ?
4 A o R ¥ TR F wE Em?
1) 9:20 2) 9:45 3) 9:15 4) 9:30
60. If Ajay is facing East what will be the direction of his back ?
e s ) T T A e ¥ Tw sE W frw fw § A2
1) West 2) North 3) South 4) South East
1) fy=m 2) IW 3) =i 4) o

61. How many months have 30 days in a year ?

@Hﬁﬁmﬁﬂﬁﬁsoﬁﬂﬁﬂ%?

1) 7 2) 5 3) 4 4) 6
62. How many bones ar¢ there in human body?
o ot § e efgeal 6 €72

1) 204 2) 205 3) 206 4) 306
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63. Complete the series

gaer H T w |
A CP s
1) M,0 2) OU 3) LP 4 RV

Direction: (In Question No. 64-75) Choose the odd one.
feqn F¥w: WA dem 64-75 H faww W w A

64. 1) Nose 2) Ear 3) Eye 4) Hand
1) 2) FH 3) aita 4) T4
65. 1) Teacher 2) Actor 3) Singer 4) Dancer
1) FEATH 2) afigEa 3) MEE 4) Fd®
66. 1) Rose 2) Apple 3) Lotus 4) Lily
1) TE= 2) ¥4 3) wHA 4) fered
67. 1) Horse 2) Walking 3) Swimming 4) Climbing
1) ®e 2) =l 3) a@ 4) =
68. 1) Hindi 2) Chinese 3) Marathi 4) Gujrati
1) &= 2) = 3) w8 4) A
69. 1) Lock 2) Wall 3) Gate 4) Key
1) e 2) drEmn 3) WEE 4) rEt
70F 1y TV 2) Radio 3) Drama 4) Cinema
1) & 2) et 3) ARE 4) fam
71. 1) Chair 2) Almirah 3) Table 4) Home
1) FEi 2) TEERI 3) ¥ 4)
72. 1) Aeroplane 2) Jet Plane 3) Helicopter 4) Worship
1) EEE-Ses 2) s famm 3) A 4) &
73. 1) Asia 2) Europe 3) Australia 4) India
1) ofeEn 2) gy 3) e 4) YA
74. 1) Carbon 2) Platinum 3) Gold 4) Silver
1) FEA 2) wife™ 3) @ 4) =g
75. 1) Ginger 2) Onion 3) Beet Root 4) Coriander
1) ETH 2) = 3) TEhal 4) ufF



76.

Find the missing Number.
@ den T F|
6 40

1) 54 2) 72 3) 80 4) 63

Direction: (In Question No. 77-78) Choose the best alternative.
ﬁmﬁia:mﬁmn-nﬁaaﬁmfamqﬁm

T

78.

79.

80.

@ # g3 w T

1) Blades 2) Switch 3) Current 4) Regulator
1) =8 2) fa= 3) HE 4) TR
A disease always has......

= wRE B T

1) Cure 2) Cause 3) Medicines 4) Germs
1) T 2) R 3) amat 4) Ty

Rahul put his time-piece on {he table in such a way thatat 6 P.M. hour hand points to North,
In which direction the minute hand will point at 9:15 PM.?
nm%wmﬁaﬁmmﬂmﬁﬁweﬁﬁﬂyﬁmﬁmaﬁ 3R HHa F
@ tﬂlm#wsa@lﬁﬂzaﬂgﬁﬁmf{mﬁmaﬂfﬁ?

1) South-East 2) South 3) North 4) West

1) o 2) fem 3) IW 4) dfv=m

How many triangles are contained in the figure given below:

43 feu o fam ¥ fEad Brgw €2

1) 12 2) 14 3) 10 4) 8

Direction: (In Q.No. 81-90) three problem figures are given. Select a figure amongst the answe

figures which will continue the same series as given in the problem figure:
fmﬁréﬂ:mﬁ@rm—wﬁ,?ﬂﬂmfaﬂﬁthmﬁﬁﬁ%aﬁfﬁiﬁﬁhfﬁm
fom & T gEen ® I @@ R
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(D) |=

O

86.

87.

88.

89.




